
     
 

 

Question Answer Marks AO Guidance 

13 (a)  E.g. The only region with very low location on 

both variables is Region D which is therefore 

London. 

E1 2.2a Or any other valid reason to connect 

Region D with London 

OR E1 for one region correct 

with good reasoning 

 

   E.g. The region with the lowest standard deviation 

is Region B, so this is Wales 

E1 2.2a Or any other valid reason to connect 

Region B with Wales 

OR E2 for two regions 

correct with good reasoning 

   E.g. The only value where the other two differ 

much is sd of driving; the wider spread on Region 

C including the outlier suggests that this is the 

Southwest, so Region A is the South East. 

E1 2.2b Careful argument involving mean 

and/or standard deviation 

 

    [3]    

13 (b)  E.g. No the data only shows that this LA has low 

proportions of car use for travelling to work.  

E.g. No, many LAs in Region D (London) have 

similar proportions and they are not small islands. 

E1 2.2b Or any other valid explanation of 

why the data given is insufficient to 

draw this conclusion  

Identifying the LA as the 

Scilly Isles is not relevant; 

this requires information that 

is not in the supplied data. 

    [1]    

13 (c)  E.g. On a large island, methods of travel to work 

are unlikely to be different to any other LA; 

people will still be travelling to work on the roads, 

and provision of public transport will be similar to 

any other LA. 

E1 2.2b Or any other valid explanation of 

how large islands are likely to have 

similar patterns of method of travel 

to other LAs 

Candidates may, but need 

not, identify the LA as 

Anglesey, but this is not 

sufficient to award the mark 

    [1]    

 

 

 

 

 

 

 

 

 

 

       


